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SECTION -1

Attempt any three questions out of five questions.

1. (A)

(B)

2. (A)

(B)

3. (A)

(B)

4. (A)
(B)
5. (A)

(B)
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Define Industrialization. Give an account of different classification with
examples. 7
Give a brief idea of the activities of the following agencies :

(a) IFCI
(b) IDBI
(c) ICICI
(d) SIDBI

Define "Industrial Sickness". Discuss the steps taken by government to
rehabilitate sick units in India. 7

What are the problems faced by small scale industries ? What specific provisions
have been made for them in the industrial policy so far ? 7

What are the main reasons for the poor performance of the public sector in India ?
Would you advocate privatization as a remedy for it ? Give reasons in support of
your answer. 7
What do you mean by Privatization ? Briefly describe the methods by which the
policy of privatization is usually implemented. 7

What are the various factors that affect the location of the industrial unit ?
Explain with illustrations. 7

Explain dynamics of industry location with an example. 7

Explain Indian economy on basis of activity, nature with an example.

Explain Automobile & Banking Industry in India with an example.
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SECTION - 11

6.  Attempt any eight questions out of ten questions.

(1

2)

3)

(4)

)

(6)

(7)

MM-106

sector’s activities help in the development of the primary and secondary
sectors.

(A) Private (B) Public
(C) Tertiary (D) Primary

Weber also conceived the advantages of setting up different types of industries in

the same locality. It’s called

(A) Location Coupling (B) Location Dupling

(C) Location Concentration (D) Location Split

Which is the example of Ubiquitous Material ?

(A) Water (B) Wood

(C) Soail (D) All of the above

From the following which is the example of secondary sector in India’s economy ?
(A) Cotton Fabric (B) Mining

(C) Dairy Product (D) Fishing

The essential nature of a multinational enterprise lies in the fact that its

managerial headquarters are located in

(A) Home country (B) Host country
(C) Foreign country (D) None

Which one is not a way for privatization of public sector ?
(A) Natural restitution of property

(B) Sale or auction

(C) non-contract Participation

(D) None

IDBI provides four types of assistance to the industrial enterprises,

which one is not a part of it ?

(A) Direct Assistance (B) Indirect Assistance
(C) Special Assistance (D) Economic Planning
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(8) ICICI stands for :
(A) Industrial Credit and Investment Corporation of India
(B) Industrial Corporation and Investment Corporation of India
(C) Industrial Credit and Income Corporation of India
(D) Industrial Cards and Investment Corp of India

(9) Which one is not a part of promotional measures taken by government for the
growth of small scale industries ?

(A) Khadi and Village Industries Board
(B) The All India Handloom Board
(C) The Central Silk Board
(D) Directorates of Industries Board
(10) The main objective of the 1956 policy was :

(A) To speed up the rate of economic growth and to have rapid Industrialization
of the country

(B) To enhance the disparities in income
(C) To promote monopolies

(D) None

MM-106 3



MM-106



